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SN OS2SR
M Ots9 =X BT
s OlS=XIAY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| O0lgl0ld & OtS=XAIE 22 A2 Fd 1,500
OlS=AAIE 2EAH 4,392,576 4,385,576 7,000
= 681,513
Al 3,711,063
301 EetE2 NS 150,840 0 150,840
s 45,252
Al 105,588
14 0Bt 2as 150,840 0 150,840
OOISHUEAIE SAHL SE+E 180,840
S 45,252
Al 105,588
307 elztol & 4,241,736 4,385,576 143,840
= 636,261
Al 3,605,475
10 Al SXAAEEHE 22X 4,241,736 4,385,576 143,840
O0ts=XAIE 23| 4,241,736
= 636,261
Al 3,605,475
OLSSXAE d20SXIE 185,065 174,242 10,823
[ 51,520
Al 133,545
307 glztol & 185,065 174,242 10,823
= 51,520
Al 133,545
10 Al SXAAIEEHE 22X 185,065 174,242 10,823
OEA0ts NMEEE=S 80,000
= 20,000
Al 60,000
OAE0tSXI# 105,065
== 31,520
Al 73,545
2SEI0ts UE=E X 318,000 240,000 78,000
= 254,400
== 19,080
Al 44,520
301 22N = 318,000 240,000 78,000
= 254,400
= 19,080
Al 44,520
01 Al EE A S(FRDEXMA) 318,000 240,000 78,000
OE2ZE=0ts IHE+g XE 318,000
= 254,400
= 19,080




SN OIS
g otse =X &
s OlS=XIAY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| Al 44,520
QlAALE NHEEHIZYE NEEES 234,000 120,000 114,000
301 EtE NS 234,000 120,000 114,000
02 ARSI 2EHTS(FIANS, XLETHE) 234,000 120,000 114,000
LAY THEEHIEYE NEsH
(A& 4, IEASER0LS)
300,000 658 x 12042 234,000
AR SOtS AERIE 6,750 9,950 23,200
= 4,725
== 1,012
Al 1,013
301 22N = 6,750 9,950 23,200
= 4,725
=S 1,012
Al 1,013
01 Al 2E A S(FRDEXMA) 6,750 9,950 23,200
OZAERNSOtS KNSRI 6,750
= 4,725
= 1,012
Al 1,013
OLSAIZZ20tS 10 S NEXE=S A2 20,000 20,000 0
301 EtE NS 20,000 20,000
02 ANRI2HHFS(HAAS, NLHE) 20,000 20,000
OAlZA0ts 10HT A THEXIES X 20,000
SIiIIoHOtS&EE 2], 12bl, AtgHI 495,788 474,364 21,424
= 198,312
== 148,738
Al 148,738
307 212+01™ 495,788 474,364 21,424
= 198,312
= 148,738
Al 148,738
10 AlISXAIZEHE 22X 495,788 474,364 21,424
OstiilllofiotsdEE 2 495,788
= 198,312
= 148,738
Al 148,738
2230ts 188 24 263,100 236,155 26,945
= 105,240
= 78,930
Al 78,930
307 el2to| & 263,100 236,155 26,945
= 105,240
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2A:

X XH -
o=

s OlS=XIAY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
orsEsd=l12 =24 910,122 834,524 75,598
= 455,061
== 136,518
Al 318,543

307 212+01& 910,122 834,524 75,598
= 455,061
=S 136,518
Al 318,543

10 Al SXA2EE 22X 910,122 834,524 75,598
OAHI(H28) 131,880
= 65,940
= 19,782
Al 46,158
OAtZ I 45,920
= 22,960
= 6,888
Al 16,072
O=2gHl 91,082
= 45,541
= 13,662
Al 31,879
OglZit| 641,240
= 320,620
= 9%, 186
Al 224,434

OISESEEII2 SAN SESE 26,280 23,400 2,880
== 7,884
Al 18,3%

301 22N = 26,280 23,400 2,880
[ 7,884
Al 18,3%

14 JIEt2 =3 26,280 23,400 2,880
OOtSESHEI 2 SAHA S84¢ 26,280
= 7,884
Al 18,3%

OlFSESEEII2 SAN =U22E 20,733 18,000 2,733
= 6,220
Al 14,513

301 EetE NS 20,733 18,000 2,733
== 6.220
Al 14,513

14 JIEt2 8= 20,733 18,000 2,733
OOSESHEI 2 SAHA =2 2+E 20,733




SN OS2SR
M Ots9 =X BT
s OlS=XIAY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 6,220
Al 14,513
OlsEsda)12 EsE 53,330 12,000 41,330
= 15,999
Al 37,331
301 EtE NS 53,330 12,000 41,330
=S 15,999
Al 37,331
14 0Bt 2as 53,330 12,000 41,330
OtsEad=20|2 HE+E 53,330
< 15,999
Al 37,331
Otssith &2l - Exiztl K& 6,226 8,000 A1,774
= 1,868
Al 4,358
307 el2to| & 6.226 8,000 A1,774
= 1,868
Al 4,358
10 MEISXAAEHE2EHIE2X 6,226 8,000 A1,774
Ootsstth aclad - Xzl XA 6,226
s 1,868
Al 4,358
OlSESHERE XA (AIZH]) 25,000 25,000 0
= 20,000
=S 2,500
Al 2,500
201 et 3| 3,600 3,600 0
[ 2,880
= 360
Al 360
01 AtR2t2|HI 2,500 2,500 0
OJl2z3gl 2,500
[ 2,000
= 250
Al 250
02 S3=gHl 1,100 1,100 0
03322 S 1,100
[ 880
= 110
Al 110
202 O4H| 8,900 8,900 0
[ 7,120
= 890




SN OS2SR
M Ots9 =X BT
s OlS=XIAY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 890
01 2L AL 8,900 8,900 0
O0ls2ad8gRa S0 8,900
[ 7,120
= 890
Al 890
301 LEetE2 N = 12,500 12,500 0
[ 10,000
= 1,250
Al 1,250
01 Al EE A2 (2RNEXMR) 12,500 12,500 0
OEs0ts MHIA 23] 12,500
= 10,000
& 1,250
Al 1,250
ors=¢ A= 12,107,223 13,204,306 1,187,083
= 9,685,779
< 1,210,722
Al 1,210,722
301 EtE NS 12,107,223 13,294,306 A1,187,083
= 9,685,779
== 1,210,722
Al 1,210,722
01 AR 2EHSHS(RNEXRTH) 12,107,223 13,294,306 A1,187,083
Oots=¢ A& 12,107,223
= 9,685,779
=S 1,210,722
Al 1,210,722
KNSEHAEE OtsSEAHIAXIEA 212,650 212,650 0
= 170,120
=S 21,265
Al 21,265
201 fer=3| 53,041 49,833 3,208
[ 42,433
= 5,304
Al 5,304
01 AtR2t2|HI 21,000 20,000 1,000
OLEAEE 2 & 3= 15,000
[ 12,000
= 1,500
Al 1,500
OLEAEE S2E=7ULEERNNE S 6,000
[ 4,800




SN OS2SR
M Ots9 =X BT
s OlS=XIAY X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 600
Al 600
2 s5=34l 1,788 2,200 N412
OEEAEE 2eldl € 3323 1,788
= 1,430
< 179
Al 179
03 A=Y 30,253 27,633 2,620
OEHABEZZOHENE ¥ USZHAHAL 30,253
= 24,203
< 3,025
Al 3,025
202 04l 2,400 2,400 0
= 1,920
< 240
Al 240
01 2LHoIH 2,400 2,400 0
OEEAEE FUH 2,400
= 1,920
S 240
Al 240
301 EtE NS 162,209 160,417 28,208
= 121,767
== 16,221
Al 15,221
01 ARSI 2E AL S(SREXMH) 152,209 159,637 NT,428
OSHAEE AtHI(&IHM/21Z, A0/IX
HMN/HSMHIA) 162,209
s 121,767
== 16,221
Al 15,221
405 AHAHE S 5,000 0 5,000
s 4,000
== 500
Al 500
01 Tt =S F=SH 5,000 0 5,000
OEEHAEE AMR4A DT+ 5,000
= 4,000
= 500
Al 500
NS SEHAHE SgAtd2el A& 5,450 5,350 100
201 223 5,000 4,900 100
2 35244l 5,000 4,900 100
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SN OS2SR
M Ots9 =X BT
&el: RESOs XY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 5,267
=S 1,128
Al 1,129
301 EetE2 NS 7,524 9,074 1,550
Jl 5,267
= 1,128
Al 1,129
01 Al EE AT S (2 RDEXA) 7,524 9,074 A1,550
OZliots gL FEEXS 7,524
Il 5,267
= 1,128
Al 1,129
AAOtSIHER 2 (L2HIEBR) 2,700 5,400 22,700
Jl 1,890
= 405
Al 406
307 elztol & 2,700 5,400 A2,700
Il 1,890
== 405
Al 405
11 AMEISXAEEES 2,700 5,400 A2,700
OgatIEX# 2,700
Jl 1,890
== 406
Al 405
UAOISIHERH (LLEHIB) 2,000 4,000 22,000
Il 1,400
== 300
Al 300
301 22N 2,000 4,000 A2,000
Il 1,400
= 300
Al 300
01 Al E2E A S(FREEMA) 2,000 4,000 22,000
oggddd=s 2,000
Jl 1,400
= 300
Al 300
YLOISIHEXH (=202t 2TXH) 700 1,400 AT700
Il 490
= 105
Al 105
301 LEetE N = 700 1,400 AT700




FA OtSES
M olgol =X =a
&el: RESOs XY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 490
=S 106
Al 105
01 Al E2E AL S(FRDEXH) 700 1,400 AT700
Og=eII2t LA 700
Jl 490
= 105
Al 105
225 OISIHE, MaAESAIAH 25t 302,544 302,544 0
== 50,011
Al 252,533
301 22N = 302,544 302,544 0
< 50,011
Al 252,533
02 MBI 2HHSFHS(HAANS, XLHE) 302,544 302,544 0
OJIEASESHINA 203,763
= 20,377
Al 183,386
OESUY0ts Mt 98,781
=S 29,634
Al 69,147
Hd2HE & d20lsEstl XE 96,000 24,000 72,000
= 67,200
=S 9,600
Al 19,200
301 EtE NS 96,000 24,000 72,000
= 67,200
= 9,600
Al 19,200
01 Al EE A S (2 RDEXA) 96,000 24,000 72,000
OdEINEAE HE0ISESH A& 96,000
= 67,200
= 9,600
Al 19,200
OlSZEXNFAE NAHHMBLER 2,066,688 922,098 1,144,590
= 1,446,682
= 310,003
Al 310,003
301 EtE N = 2,066,688 922,098 1,144,590
= 1,446,682
< 310,003
Al 310,003
01 AR 2EHSHS(RDNEERTHE) 2,066,688 922,098 1,144,590




SN OS2SR
M Ots9 =X BT
&el: RESOs XY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOtSZE X2 A%t 2,066,688
= 1,446,682
== 310,003
Al 310,003
OrssSAXI# 532,000 532,000 0
= 532,000
301 EtE NS 532,000 532,000 0
< 532,000
02 ARSI 2EH G (FHAAHS, NSWE) 532,000 532,000 0
oshlIs & - E7E 0524 532,000
= 532,000
OtSSAIXIR (24!, HatE) 837,800 837,800 0
Jl 209,450
Al 628,350
301 LEtE N = 837,800 837,800 0
) 209,450
Al 628,350
01 Al EE A S(FRNEXA) 837,800 837,800 0
OOtSSAIXA (S XA!) 189,800
Il 47,450
Al 142,350
OotsSSARA (LS S4) 648,000
Il 162,000
Al 486,000
25 - K NE 70,983,409 68,227,325 2,756,084
= 37,381,275
= 17,979,886
Al 16,622,248
SIAME JIsE2d 855,200 193,790 661,410
= 362,100
= 327,050
Al 176,050
oglolE JIse 119,200 33,790 85,410
= 59,600
< 29,800
Al 29,800
402 QI+ X201 & 119,200 33,790 85,410
= 59,600
== 29,800
Al 29,800
02 QI TH2AILEE (01X THE) 119,200 33,790 85,410
ONE0IE JIsE2(8MH) 119,200
= 59,600




FA OS2
Hu: BRI X
Bel: EFAY JIs22 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 29,800
Al 29,800
ool &= 585,000 110,000 475,000
= 292,500
< 146,250
Al 146,250
401 Al HIZL 01| 525,000 100,000 425,000
= 262,500
== 131,250
Al 131,250
01 Al&HI 525,000 100,000 425,000
O=Z3E0oeold c2gd 525,000
= 262,500
=S 131,250
Al 131,250
405 KHaHE SH 60,000 10,000 50,000
= 30,000
= 15,000
Al 15,000
01 M ESFH S| 60,000 10,000 50,000
O=ZE0e0lE I 60,000
= 30,000
= 15,000
Al 15,000
OHEl0ly JISEZAMS(E =LIEF00L) 151,000 0 151,000
== 151,000
402 2I2F X201 & 151,000 0 151,000
= 151,000
02 QI THZ2AILEE (01X THE) 151,000 0 151,000
OO0El0IE JISEZAE (= FEIE00lA) 151,000
& 151,000
O2lolE AR 67,613,036 65,616,160 1,996,876
= 36,531,158
= 17,459,022
Al 13,622,856
020l EsEBSIMG | ESI 13,040 16,300 A3,260
307 @120l & 13,040 16,300 A3,260
1 AMISXAIEEX 13,040 16,300 A3,260
O0lel0ld EsE 2 RAIE+H 13,040
02H EROIES= 15,393,369 19,413,160 4,019,791
= 11,545,027
= 1,539,337
Al 2,309,005




SN OIS
M B85 - JIF X2
2l: OelolE AIEXIA (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
301 LPBNZ 15,393,369 19,413,160 A4,019,791
= 11,545,027
= 1,539,337
Al 2,309,005
01 MBI BEXHZ2(2DEXTHA) 15,393,369 19,413,160 24,019,791
O02H EROIESZ 15,393,369
= 11,545,027
= 1,539,337
Al 2,309,005
NEL=sY KA 366,549 899,570 533,021
= 274,911
= 45,819
Al 45,819
301 LB F 366,549 899,570 533,021
= 274,91
& 45,819
Al 45,819
01 A BEAHZ(RREETR) 366,549 899,570 533,021
OEL=s XA 366,549
= 274,91
& 45,819
Al 45,819
2230 (o) X 16,232,648 10,536,700 5,695,948
= 12,174,486
& 2,029,081
Al 2,029,081
301 LPENZ 16,232,648 10,536,700 5,695,948
= 12,174,486
= 2,029,081
Al 2,029,081
01 Al B&XHZ2(2REETA) 16,232,648 10,536,700 5,695,948
OR2z30(Zot=) XA 16,232,648
= 12,174,486
T 2,029,081
Al 2,029,081
SFUAE lAHd| K& 14,081,434 13,559,724 521,710
= 8,448,860
= 2,816,287
Al 2,816,287
307 QIZ2t01 A 14,081,434 13,559,724 521,710
= 8,448,860
= 2,816,287
Al 2,816,287




FA OS2
B 9 OlE N
CHelr Hel0ld AIEXIA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 14,081,434 13,569,724 521,710
OEsuAA 14| XI&H 14,081,434
= 8,448,860
S 2,816,287
Al 2,816,287
SN HRIME K (DAI2LEZHLH]) 2,081,370 2,074,800 6.570
= 1,248,822
< 416,274
Al 416,274
301 2eEN= 2,081,370 2,074,800 6,570
= 1,248,822
=S 416,274
Al 416,274
01 Al EE AL S(FREXMH) 2,081,370 2,074,800 6,570
OEFuAE MRIMEX
(A2 SEZOH&HI) 2,081,370
= 1,248,822
= 416,274
Al 416,274
2R MM N (SEEFWA SE22+E 228,980 233,890 4,910
= 137,388
= 45,796
Al 45,796
301 EetE NS 228,980 233,890 4,910
= 137,388
= 45,796
Al 45,79%
01 Al EE A S (2 RDEXMR) 228,980 233,890 24,910
OEsuAdE XM Xd
(SEESVAEE2RH) 228,980
= 137,388
= 45,796
Al 45,796
ERUNHE MRHE X (00 EEZHAZWAIKIH) 4,212,140 4,000,000 212,140
= 2,527,284
= 842,428
Al 842,428
307 elztol & 4,212,140 4,000,000 212,140
= 2,527,284
= 842,428
Al 842,428
10 Al SXAEEHE2EHI2x 4,212,140 4,000,000 212,140
OEFuHA XNPIHNLXA
(HEOIEEZAZWALXIR) 4,212,140
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